FER2EEE=F)TRESTEERET— =31
R 224F FEAL W B B BT SRR A S MR

AL E=2) TP

AT LA I (pg/g—dry)

5L A = I

PR AT SRR

AR S L T i BHI TR E | & T RRE

[1] PCB¥E 90,000 33220 K660
[I-1]E/7rB b7 =L 110 0.3 0.8
[2]¥/urbE 7 x=/LH 1,400 5 14
[1-3] RV Zmrubt 7=/ 4,700 10 40
[1-4] 7 FF /b7 ==Lk 3,700 30 100
[1-4-11 275 F—PCBD 9 5 33 44-T hF7mn b7 ==/ (%77) 42 0.4 1.3
[1-4-2] 275 F—PCBD 9 5 3445-7 b 7un 7 ==/l (#81) 2.0 0.1 0.3
[I-5] Ry ¥/ mrb 7 == 6,300 40 110
[1-5-11 275 F—PCBD 5 5 233 44X % 7nnt 7 ==/, (#105) 170 1 4
[1-5-2] 275 F—PCBD H 5 234452 /7nnt 7 ==/l (#114) 9.5 0.09 0.24
[1-5-3] 275 F—PCBD 9 5 23,44 5-XF 7 nn 7 ==/, (#118) 570 5 14
[1-5-4] 275 F—PCBD 5 b 23,4454/ nut 7=/l (#123) 6.2 0.1 0.3
[1-5-5] 275 F—PCBD 5 b 3344547 nut 7=/ (#126) 32 0.1 0.3
[1-6] ~¥H¥ 7 or b7 ==k 28,000 60 180
[1-6-11 275 F—PCBD 5 5 233 44' 5-~F ¥/ nn 7 ==/ (#156) 380 1 3
[1-6-2] 275 F—PCBD > 5 233 44,5 ~FH /o7 ==/, (#157) 27 0.2 0.4
[1-6-3] 275 F—PCBD 9 % 2,344 5,5-~FH /o7 ==/ (#167) 120 0.4 12
[1-6-4] =75 F—PCBD 5 b 334455 ~FH/nnt 7=, (#169) 0.8 0.1 0.3
[I-7] <747 unE” ==/ 36,000 60 170
[1-7-11 275 F—PCBD 5 5 223344 5-~7 4 /nnt 7 ==/ (#170) 3,700 6 17
[1-7-2] 275 F—PCBD 5 5 22344 55-~7 4 7nnt 7 ==/ (#180) 10,000 20 50
[1-7-3] 275 F—PCBD 9 % 233 44,55 -~FZ/nnt 7 ==/l (#189) 97 0.07 0.19
[1-8] A/ ¥ /unbE 7 ==/} 9,400 10 40
[1-9] /F27mrBEbE 7 ==L 720 1 3
[1-10] 7HhZ b7 =)L 9.8 0.4 12
[2HCB (~FH#27 mruxrPr) 100 1 3
[6] DDT# 54,000 %47 X312
[6-1] p,p-DDT 26,000 0.9 2.8
[6-2] p.p'-DDE 2,700 2 5
[6-3] p,p-DDD 16,000 0.5 1.4
[6-4] 0,p-DDT 6,000 0.4 1.1
[6-5] o,p'-DDE 380 0.5 12
[6-6] 0,p'-DDD 3,400 0.4 0.9
[7]1 7 BT 4 130 387 %25
[7-1] cis-Z B LT > 30 2 6
[7-2] trans-Z @2 LT 36 4 11
[7-3] A ¥ 7 a7y tr(0.9) 0.4 1.0
[7-4] cis-/ T2 /v 26 0.3 0.9
[7-5] trans- / F 2 1 )b 34 2 6
[8] ~7 % 7 a V¥ nd M7 %49
[8-1]~F % 7 ol nd 0.4 1.1
[8-2] cis-~7" % 7 /L TRF L R 1.0 0.3 0.8
[8-3] trans-~T7' % 7 B LR F T K nd 1 3
[11-1] a-HCH 79 0.8 2.0
[11-2] B-HCH 100 0.8 2.4
[11-3]y-HCH (3% : V> T v) 21 0.7 2.0
[11-4] 3-HCH 14 0.5 12

(ED B TFIRIE B2 mt & L7,

(712) e B H] PRI R AR A 0 78 BRI ] T IRIEO &

FHE & Uiz,




FR2EEE=S) T RESHHBERET—4

I

W 224 FEAL P E BR BT KRG IR A G T Mg — &
&L =LV TR

AT LA I (pg/g—dry)

5L A = I

TR A Sk

EE

A G E TE A e H T RRAE JE B T RRAE

[12] 7o sz nd 0.2 0.4
[13]~FH T rEE T == /LH nd 0.6 1.5
[4]RY 7 rETT 2= —T VH (RFEED4PHI0ETOL D) 3,000 %100 ¥3%270
[4-117 T T7aEY 7 =)L —T L 15 2 6
[14-1-1]122'44-7 R 77 BEY 7z =)L=—7 /L (H#47) 6 2 6
[142] R F T u®V 7 2 =)L=—F LA 11 2 5
[14-2-1122'445-X 27 0E®Y 7 2 =)L=—7 /L (#99) tr(4) 2 5
[14-3] ~F P T uEY 7 2= —T U 10 2 4
[14-3-1]12,2'44'55-~F VT €Y 7 = =/L=—F )L (#153) tr(2) 2 4
[14-3-2]12,2'44'56-~F VT 0 EY 7 = =/L=—F )L (#154) tr(1.3) 0.7 1.7
[14-4] ~"TF T u®YT7 2=/ —T L 12 2 4
[14-4-112,2'3,3'4,5,6'-~7 X 70 E Y7z =)L=—7 /L (#175) KN 5 2 4
[14-4-2]12,2'3,44'5.6-~7F 707 = =/L=—F /)L (#183) OAFHE
[14-51 427 4 T aEY 7 = =)L=—7 LI 24 4 10
[14-6] /F 7 BEY T = =)L T—F )LIH 170 9 24
1471 F A7 BEYT 2 =)LT—T )L 2,800 80 220
(5] =N Tngat s # v 2k (PFOS) 79 2 5
[16] v 7 Fuat s % U (PFOA) 20 5 12
(171X & 7maXPr 160 0.3 0.9
[19] B U TF AR LAY 290,000 80 160

62,000

930,000
[20] h U 7 ==L A X{LEW 210,000 30 70

23,000

61,000
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